wo2EMIN § 0101 Imody
HNBOLOITOU WORIIONIITN 36N | hL @
BOLNIURON-BOIIEN 75 €W wELHROwd 1EL[T}

OF8 TST OF1 Y0009 | 618008 Tior LETOF | 9991186 | fe66ss8 86T 81T 9 658 008 BES 609 F i [XERL]
CIS T8 € [ 8T 88 0 0 ST06TL T T6TSIT ISTO0F T Serss [ ¥ Winoged ow 01011
TRELOF T 029 901 080 1 88 08 1206t T <
GIB L5 07 S8 8% TRUSLY [ 91T F98 60Z T S8F 8% GIL6Y z S0
019 €06 1 €1Ttrl 9012 £OF 601 GTL 6t H [ CE
820895 911 00 095 rOETIT FIOT LETOF | 7298808 | Ororres LYT8I6F roETIT 090 19 1 ¥ ou 0101]]]
020969 1 196 €21 196 €21 Ly E3 =) SN 501 e ] (53
sorizit €618 LEG 13 I £ dar (S
1TLr IEF 16 89 [%) voumcndh twedogel [,
[F13 TEF e 39° © i dogel | o6
92L 69 st 6t 76 rea B
85 6T 5" rei T 1
10€ 051+ 61 red €
3§ 6T T EX rea TLLT AR TE Lo [
T3 €689 EX L] VL
168 €T 753 LE96L *40¢ dotoR-tan [ [3] [HIN
10€ 8% 0STPL [3K e 11
020 ZE1 01099 €° [ax YL
106 051 ¥ 61 [= 1711 o [ L+
81901 920 €15 LL “0F T EX [ I i )
81901 3 6T T o0F Tn . r-ed i T 1HOLWS0%- J0TTa1] [ 5
81901 G8L € 568 99 eor T i D Gt
81901 805 L VSL8S *o0F T rre N THSISW®-10TeS]] | ¢
81901 I 95959 0r T i e
31901 69 02 LrE09 o0 T rre PISH30- 10 WESL]
1901 69 LFE 08 o0F T
819 0| 9% L1 88 SoOF T % 3
819 01 G3L 568 98 0F T L w9 VLD THO1MO3%-J0IPUaI | ¢
819 01 zTie 9595 o0 T h Wi LI 1o1Wo0%- S0 wEell | ¢
31901 8 @z ©0F T 5 0 e
$19 01 10¢ 0S1 ¥L 960 nH 1 YTON Y6 fse
6L0L (2 SLL o0F T € o1 ] R [
31901 520551 SiL “0F T Werol SRS GRRATERIID | £¢
6LOL 062 $91 r9 T8 e0F T RGVIT K[ze
1901 9T €51 829 91 “0F T 3 e B[E
88 FIL 81901 81 16l ThL S S L0F NN S O TREoN-ToI X Ty TROIOT-TDHR
6LOL Tof 05T F o0r § Wi [15] RE
vioy LEor 68L <68 3 w1119 wioedion WOIWN BT ¥
Tev i i T T o 7
35 53 X D SRR )| 9
L58 353 Y RPEST aderadxa) |57
TIL6z0 1 300 66L b0’ wOIE T 3
190 265 [0 or6 i WL $0 e ionow | €7
Seos €96 82 64 o 50 eva tomigHg [ 7
0£L 669 1 60€ S 116 €21 LLY ! 50 PrOHY P | YeTnerre 1 s A |
€TLR6L L 19T 9¢1 TS X WY ] wriexow indei)
€19 590 655 920 71} 665 €IS u o0F TR " WOLOT 50 ALY JOTONwSI- 10 o1 |
8.5 600 655 1€5 Se8 665€ | 99T 0t TN K v 50 ALY J0r0N T
I €06 OF€ 05 6L0 9L IS¢ oL | a8 L0 TS G0¢ GATOR-TI iy ¥ T et ] (11
ST610 6L0 I3 9 6L0 99T €1 0F VAR [ T SOOI IORERL] [ 91
F6E9IL 5 801 wr %58 55 g S0 OWROHONE [ 51
079 60L 15 L01 €81 051+ v 50 OMRORONC [
GET6IF T 15 201 59§ 051 doueniq| ¢
956759 1 T sl 166 16 19€ [T dorrencg yrwv 1|71 |
6t 9tz 1 TEV 16 59 STt T
€26 809 1 388 121 X3 190 3 2 AN o doiNadiweg (01
FILEIr e 376,09 91 €0T SELTIL 185 101 *e0E I E T i Ot SIOLNINE O | 6
TR 0T T 6LT T8I ares 50 O11 ot w0 weg [§
99 OTE | 791 €0C 698 5% $0 Ol o doiNadWt Wog [
G 816,09 91 €0T GEL TTT "0 1B € b T de o wdorxadi weg |9
G 86 09 91 €0C SELTIL 185 101 08 1B € i T def ou sdovadi e [
8LS 08¢ 60T TS 68 1Ol §0 i
661 TIS (%) 60T SrOSTI 685 101 S0E e ¢ dX O BIOLNANT WP | ¢
661 F1S FSLT9 60T BHOSIL 685 101 ©0E TN § % on wdorvadinweg [T
910 995 17579 60€ S Lb 30T 896 611 60€ § SETrol *eDE "I € *0€ O dowxadulf| 1
[ T o 51 I 7 T [ T 5 s T
o %0€ eH %0€ sHL/ze .
oriunon e or bl Aassinbipeo: | oviss rervo y s reruoyjomdosarey rioged | vudeed |voum
d0au memareay | MUY [ NOLE3 OF | 10 wwmmgren | omrwon | 1E0> e o]l | NawgveR [ UED | g somenroyt B | N |y | cowomr | oa ooy
R = 10 evavovEn | o 01 Wosani Prp—— %01 -
> % 01 T 2017

Y01 £202°60°10 ¥R
niowgo . ¢ ferduna) wrodos BI10  OTE ErONm KENTIILEROCEdQOIMOO),, £ [N 0N
AMHVONULDVL FOHLVLIT

amar




S8

98L 8L6 €8L 0Y SIvL 051 7L 10€ 871 0L SLO L€ 05T 7L 61y RSy ved | 50
98 8L6 €807 SIrL 01 7L T0€ 871 0L ¢ SLo Lt 051 7L 61'F WRISE ved | 50
18 S0€ 9¢ 1099 01099 020 251 00€ € 500 €€ 01099 K3 3 vd | <0
8L 8L6 TS oY SIvL 051 7L T0€ 871 0L SLOLE 05T L 61y nivgy ved | 50
$88 191 € 96 TN 81901 886 77 88 672 9T £51 81901 yor 11 6 ¥11 8799 %0F TN €r oG rd sl
ST IE1 L 1) 6L0L 505 51 920 551 920 551 6L0L ISLL €IS LL €IS L %0 0 3CY 2] vid T
ST6L01 T 618 6L0L 9TE 51 95T €51 95T Es1 6L0L €99 L $T99L 879 9L D i) € neTg i T
TLL99TT 606 06 SL0L 625 91 067 591 06Z 591 6L0L VTS 198 S8 D 9 ReHOL ] T
ST6L01 T =10 o 6L0L 9LE 51 95T €51 T is1 6L0L €99 L $99L 879 9L 7 il €7 g via T
9 986 1 ot LIl = 6L0L 086 17 6L 61T [GX] 31901 066 01 368 601 99T €L D il Yy ] v | st
0y L6l s 198 LT 688 711 31901 (753 T 18T 787 161 31901 T9€ 1 119 €71 7L 56 %0 TN o0y Varow-on r's iy i7d | 1
T8 606 € 918 061 o101 SBLEL V8 LiL Y6811 ST 768 11 ¥26 811 79 65 9t (3 vra [
LIS T T 59 18 6L0L 08 71 T0€ 871 10¢ 8¥1 6L0L SIvL 051 9L 05T 9L Y0r o 61y 53 vid [
LIST T £ 6L0L 0€8 ¥1 106 3%1 10€ 371 6L0L SIvL 051 ¥L 051 4L S0 617 [ ] T
SLLE0E sye i 81901 %3 5% 202 10€ 8¥1 81901 €111 9T 111 051 ¥ L 61y [ red | 1
[ X3 T % g 81901 6€8 L1 98€ 8L1 Y26 311 31901 6168 €61 68 9% 65 L 9t ¥ v | s1
R HIT 965 901 = 31901 100 61 990 061 TIL9T1 31901 €05 6 €606 S5E 69 D il 33 L] ved | s1
weLLT SLE 011 - 31901 $90 07 89 00C 68L £€1 31901 ¥£0 01 T5E 001 56899 %0y o 3LUC g ved | 1
oI Ter L T 8 819 01 668 L1 98¢ 8L1 26 811 31901 6168 61 68 97 65 Sor 9t Lo vra | 51
oI Ter e T 86 = 31901 668 L1 98¢ 8.1 Y26 811 31901 6168 €61 68 797 65 D 9E L] vva | s1
T05 SI8 L oz¥ Til $i1901 oFy 07 00F $0C 19T 9%1 $1901 022 01 0001 | tci#9 S0y o S8t Tg ved | s1
LWOLLT 9LE 011 31901 890 02 89 00 68LEE1 31901 ¥€0 01 T5E 001 568 99 T SLE g ved | o1
T6€ LIL T 76¢ 801 R 81901 169 61 896 961 ZIg 11 31901 386 ¥8Y 36 959 59 S0y T 153 g g | o1
066 180 7 01 5% CH 81901 068 ¥1 10€ $¥1 T0¢ 391 6LO0L SV L 05T VL 051 VL %0p o 617 53 vid b 1
1IST T 9 18 6L0L 08 ¥1 10€ 371 10€ 871 6L0L SIvL 051 ¥L 0T 9L T 617 (53 rd T
LIS Tt 5% 18 6L0L 068 1 10€ 871 10€ 871 6L0L SIvL 051 ¥L 01 7L %oy ww 61'r (53 yed | 1
ST6 01 T =13 6L0L STt S1 9T £51 95T £51 6L0L €99 L $T99L $199L 0¥ o0 €y g vid [
[ 765 08 8 59 11 165 Ov1 G [ 99 1L 99 €L K 1 va T
SSUST 16969 S 921 1L 921 1L 921 %€ 9 $5¢€ €9 5669 %3 1 ved 1
6is 080 1 e LT ] %18 15818 1581 995 €57 95 5 9% 6l'c WY a T
LSS 600 1 $01 9T 5 LY9L 69 9L 69% 9L s LELTS LELTS 86T wga| a 1
TS SeI 1 099 0¢ 1868 71368 713 63 Y619 0¥ 19 076 19 33 W =) T
L6y 96¢ 1 $50LE 60E § ¥58 01 $¥§ 801 S¥S 801 60€ § 9B L 868 VL 858 1L %0 ‘Pargmg &7y NEXE (%) 1
CCE 606 06 625 91 067 591 062 $91 Y8 ) 1918 7| Yongiwg v T
€96 650 1 SYi Ty 665 € €99 L $T9 9L 95T €51 665 € 168 € PIE8E $199L D il €Y wOIvg vz | 50
£96 650 1 SHI Ty 665 € €99 L 379 9L 95T €51 655 € T3 ¢ i€ 8¢ $T99L %0y a £EF ROINE vzd | 50
T8t 961 001 89 67 6L0L 6% 91 956 Y91 956 191 6LO0L s X2 3V 23 0¥ TRRH 90¢ GOATONToAl 9y w9 £d T
ST 01 T e 98 6L0L 9TE S1 9T 651 95T €51 6L0L €991 $T9 9L 82990 D il i Yonoivs_ | via T
LLE Y69 86 L1 09z § ¥09 2§ 60Z 501 879 € 6LT 9F 855 L or'y ®L (3] so |7
009 6oL 5t 81 5 9LEs 5L £5 315 (01 0L € SL0 Lt 051 9L s w7 =) 50
£0€ 2o¥ © 99T 5% ¥29 01 €2 901 62 901 L 99T €L 99T €L K3 1 [5) [
76809 1 [ 68121 ] 388 121 90V 8 190 8 1908 Sy T v T
XA V6 i€ =13 19956 196 6579 65 19 765 19 S RPNT =) [
6909 1 (10 681 71 338 121 88 121 907 8 190 ¥8 19078 [ wL [Z2d T
VISP e Ul 376 09 9L 0 791 €0 791 £0C 85101 185 100 18¢ 101 0E 388 ¢ 53 iz iV | 1
SCEOLI 1 ¥SL oY 9988 79988 [z vy TEE v 79988 105 wEg IV | §0
998 O9E 1 698 S5 851 01 185 100 291 €07 6L0§ 06L 0§ 185 101 rL's roraiivzz [ 1-€-iv | 0
VILEIPE Ul 396 09 91 07 791 00 [ 851 01 185 101 185 101 WOE e ¢ 53 oL 0
TT66TE € SLi o9t 95€ 65 SBL 61 758 L61 758 L61 €686 926 %6 926 36 0¢ 1 ¢ 655 w61 eV | 1
8L508C 1 1S LS 657 01 685 Y01 6L1 607 6ILS $6228 685 Y01 16'S s0
I rIS € 708 LLT VLTS 3160C 6L1 607 6LT 60C 65% O 685 $01 685 101 S0¢ 18 ¢ 6% T
61 HIS ¢ T08 LLT YL TS 316 0C 6L1 60 6LT 607 65% 01 685 Y01 685 ¥01 S0E 1 ¢ 165 T
$69 696 T 90 121 60L S s102C TS 02L $102C 60E S 300 11 Lo 011 SLo 01T WL 0D 5] T

G [ [ [ o1 3 s T 5 s T
SV
4 1 oY 10 st o or werno y 9% ‘TusIno)/omdoaies wrm
1001 o8 vmmreg wvgrER it ) ‘euounowsducn rusiuol |10 vyuvgien e ooy e R
; rouncsavasds. %01
so¥

¥oi €207°10°T0 =
wwodos

al

""IH/;S = e

FHHVOHIDVA 30HLVLIM

90 BIN10 I SwoNm seEwravsecedgoomgQ,, 4 I 0



[}
T
T
*
\gu * 5‘_
’
.\Mo” o
& %
> nﬂ
<
- z
>
23 2
s o
g Twaw
< 9 ]
< g J00¥S s
or 96¢ 9¢ 29901 029 901 080 IL £5EL €S €L 120 6¢ 2 L 1 1
CIBELS & 129 ¥05 589 88 SISLYl | zsisLvi 901 2L $8¥ 88 ¥¥6 101 9EY 610 1 6ZL 6¥ K001 KOTOT 18T 3 0T DA
019 £06 1 I£T 67 el [ 901 ZL W66 LSY 66 62L 67 13T z 3 [ ou Ehogeg|
891 €L £0L 81 6irs S8L ¥S 145 601 SLLE €8L LE 995 SL 7y nyrg =) FEEE301 B
010 818 SS1 1T 1619 046 19 16 €21 "y SELTY LLY S8 X3 53 [=) S0 NS08 B
1LY 919 €96 ST s 0L 9% SO¥ €6 e 602 ¢ Lir ¥ ¥9'E ny 6T red | S0
01€ 909 089 ST €65 ¥ ££6 S $98 16 891 € 89 1€ SSE €9 33 ] red so
029 60L Z5c 81 9LES 65L €5 815 L0 $0L € SLOLE 081 ¥L 617 WyirgT red | s0
079 60L TSE 8L 9UES 6SL £S5 8IS LO1 B $0LE SLOLE 051 L 61'F RyiT red | S0 ]
IS LS6 1 §95 18 0£8 ¥1 T0€ 871 10€ 8¥1 Sive 0ST¥L 0S1 ¥L 61y [ red I
ILS LS6 T S 18 O£8 $1 T0€ 8¥1 T0€ 871 SIvL 051 #L 05T ¥L 61 [ ] i
98L 8L6 €8L OF SivL 05T ¥L 10€ 851 S0LE SLOLE 05T vL [ 0072 red | so ]
62 IL8 SOE 9% 1099 010 99 020 Z€1 00€ € 00 €€ 010 99 53 WRIEE v | <o WBLEHI0g|




